Class:9th Time:....

Test:Biology

Attempt ......... questions

' Permanent tissues originate from the
tissues:
a) Epidermal
¢) Ground

b) Meristematic
d) Xylen

The solution with less solute is called:
a) Hypertonic b) Hypotonic
d) B and C both

Human body is made of about

c¢) Isotonic

type of cells:
a) 200 b) 300
c) 400 d) 500

Lysosomes were discovered by:

a) Camillio Golgi b) Robert Hook
¢) Schwann
In 1665, British Scientist first of all
discovered cell:

a) Robert Brogin, *b) Robert Hooke
c) Aristotle d) Lamarck
What isthe function of chloroplast?
a) Preduction of ATP

b) Production of Proteins

c) Photosynthesis

d) Production of ADP

Which is not component of plasma
membrane among the followings:

a) Lipids b) Carbohydrates

c¢) Proteins d) DNA

Gaseous exchange in gills and lungs
occurs by the process:

a) Diffusion
c) Active transport d) Turgor

b) Osmosis
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